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1. 5)883 2. 6)704
_“5
33
-30
3
6. 5) 726 7. 8)926
1. 5)706 12. 3)658
16. 847 + 2 =_ 11
19.629 ~2=_____ 20
22. 858 + 5 =__ 23
Solve.

25. Becky has 536 geraniums to be

planted. She puts 4 plants

3. 3)695

8. 4)559

13. 2)743

. 544 + 3 =
. 947 + 7 =
. 932 + 8 =

into

each pot. How many pots can she

fill?

Practice-69

4. 4)889 5. 7863
9. 2528 10. 4)541
18. 6)672 15. 5J921
18. 633 ~ 5 =
24809 +3=

26. There are 630 sunflower seeds.

There are 5 seeds in each pot.
How many pots have sunflower

seeds?
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